

Higher-order identities for the second-order sequence

Bijan Kumar Patel · Takao
Komatsu · Prasanta Kumar Ray

Abstract The objective of this article is to derive some higher-order identities concerning a general second-order recurrence sequence.

Keywords recurrence relation · second-order recurrence sequence · generating function

Mathematics Subject Classification (2010) 05A15 · 05A19 · 11B37 · 11B39

1 Introduction

Let $\{A_n\}$ be a general second-order recurrence of the form

$$A_{n+2} = uA_{n+1} + vA_n \quad (n \geq 0)$$

with $A_0 = a_0$ and $A_1 = a_1$ (see, e.g., [1, 2, 8, 9] and references therein). This sequence is the generalization of some known sequences like Fibonacci numbers $\{F_n\}$, Pell numbers $\{P_n\}$, balancing numbers $\{B_n\}$ etc. Here the parameters u and v are non-zero real numbers satisfying $\Delta = u^2 + 4v > 0$. In this paper, put $a_0 = 0$ and $a_1 = a \neq 0$ for simplicity. The generating function $f(x)$ of this sequence $\{A_n\}$ is given by

$$f(x) = \sum_{n=0}^{\infty} A_n x^n = \frac{ax}{1 - ux - vx^2}, \quad (1.1)$$

while its explicit form known as Binet formula is given by the identity

$$A_n = \frac{\alpha^n - \beta^n}{\alpha - \beta},$$

where $\alpha = \frac{u+\sqrt{\Delta}}{2}$ and $\beta = \frac{u-\sqrt{\Delta}}{2}$.

Higher-order identities for Fibonacci, Cauchy and balancing numbers were studied in [3–5] by Komatsu et al. They have obtained some explicit expressions of the identities

$$\sum_{l=0}^{2r-3} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \dots F_{j_r} \quad \text{and} \quad \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} F_{j_1} \dots F_{j_r}$$

for Fibonacci numbers in [4]. Whereas, the expressions

$$\sum_{l=0}^{2r-3} \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} B_{j_1} \dots B_{j_r} \quad \text{and} \quad \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} B_{j_1} \dots B_{j_r}$$

for balancing numbers found explicitly in [5]. In this article, we generalize all these identities by considering the sequence $\{A_n\}$. The results in this paper can be reduced to those in previous or classical papers.

2 Main Results

In this section we establish some higher-order identities concerning the sequence $\{A_n\}$.

Theorem 2.1 *For $n \geq 1$,*

$$nA_n = \frac{1}{a} \sum_{j=1}^n (A_j A_{n-j+1} + v A_{j-1} A_{n-j}).$$

Remark. When $a = v = 1$, Theorem 2.1 is reduced to Theorem 1.1 in [4]. When $a = 1$ and $v = -1$, Theorem 2.1 is reduced to Theorem 1 in [5]. Notice that the value u does not appear in the identity.

Proof. Differentiating both sides of (1.1) yields the identity

$$(1 + vx^2)f(x)^2 = ax^2 f'(x). \tag{2.1}$$

It follows that, $(1 + vx^2) \sum_{n=0}^{\infty} \sum_{j=0}^n A_j A_{n-j} x^n = ax^2 \sum_{n=1}^{\infty} n A_n x^{n-1}$. Further,

$$\sum_{n=0}^{\infty} \sum_{j=0}^n A_j A_{n-j} x^n + v \sum_{n=2}^{\infty} \sum_{j=0}^{n-2} A_j A_{n-j-2} x^n = a \sum_{n=1}^{\infty} (n-1) A_{n-1} x^n.$$

Comparing the coefficients of like power of x , we get

$$a(n-1)A_{n-1} = \sum_{j=1}^{n-1} (A_j A_{n-j} + v A_{j-1} A_{n-j-1}).$$

For $A_0 = 0$ and letting n by $n+1$, we obtain the following result that resembles the identity $A_{m+n} = A_m A_{n+1} + v A_{m-1} A_n$ (see, e.g., [6, Theorem 2.13]). \square

Theorem 2.2 For $n \geq 4$, we have

$$\begin{aligned} \sum_{k=0}^3 v^k \binom{3}{k} \sum_{\substack{r_1+r_2+r_3=n-2k \\ r_1, r_2, r_3 \geq 1}} A_{r_1} A_{r_2} A_{r_3} \\ = a^2 \binom{n-1}{2} A_{n-2} + a^2 v \binom{n-4}{2} A_{n-4}. \end{aligned}$$

Remark. When $a = v = 1$, Theorem 2.2 is reduced to Theorem 1.2 in [4]. When $a = 1$ and $v = -1$, Theorem 2.2 is reduced to Theorem 2 in [5].

Proof. Differentiating both sides of (2.1) with respect to x , we obtain

$$f(x)f'(x) = \frac{ax}{(1+vx^2)^2} f'(x) + \frac{ax^2}{2(1+vx^2)} f''(x). \quad (2.2)$$

Now the identity (2.1) together with the identity (2.2) gives the following

$$f(x)^3 = \frac{a^2 x^3}{(1+vx^2)^3} f'(x) + \frac{a^2 x^4}{2(1+vx^2)^2} f''(x).$$

It follows that

$$(1+vx^2)^3 f(x)^3 = a^2 x^3 f'(x) + \frac{1}{2} a^2 x^4 (1+vx^2) f''(x).$$

Further simplification yields

$$\begin{aligned} (1+3vx^2+3v^2x^4+v^3x^6) \sum_{n=0}^{\infty} \sum_{\substack{r_1+r_2+r_3=n \\ r_1, r_2, r_3 \geq 1}} A_{r_1} A_{r_2} A_{r_3} x^n \\ = a^2 x^3 \sum_{n=1}^{\infty} n A_n x^{n-1} + \frac{1}{2} a^2 x^4 \sum_{n=2}^{\infty} n(n-1) A_n x^{n-2} \\ + \frac{1}{2} a^2 v x^6 \sum_{n=2}^{\infty} n(n-1) A_n x^{n-2}. \end{aligned}$$

Furthermore,

$$\begin{aligned} \sum_{k=0}^3 \sum_{n=2k}^{\infty} v^k \binom{3}{k} \sum_{\substack{r_1+r_2+r_3=n-2k \\ r_1, r_2, r_3 \geq 1}} A_{r_1} A_{r_2} A_{r_3} x^n \\ = a^2 \sum_{n=2}^{\infty} \frac{(n-1)(n-2)}{2} A_{n-2} x^n + a^2 v \sum_{n=4}^{\infty} \frac{(n-4)(n-5)}{2} A_{n-4} x^n, \end{aligned}$$

and the result follows. \square

The following lemma is useful to derive the subsequent main results.

Lemma 2.3 *For $r \geq 2$, we have*

$$f(x)^r = \frac{a^{r-1}x^{2r-2}f^{(r-1)}(x)}{(r-1)!(1+vx^2)^{r-1}} \quad (2.3)$$

$$+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} a^{r-1}(-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+vx^2)^{r+k-1}} f^{(r-k-1)}(x). \quad (2.4)$$

Remark. When $a = v = 1$, Lemma 2.3 is reduced to Lemma 2.2 in [4]. When $a = 1$ and $v = -1$, Lemma 2.3 is reduced to Lemma 1 in [5].

Proof. The method of induction on r is used to prove this result. The basis step is clear as the identity (2.3) holds for $r = 2$. Assume that the result holds for some $r \geq 2$. Now differentiating both sides of (2.3) with respect to x , we obtain

$$\begin{aligned} rf(x)^{r-1}f'(x) &= \frac{a^{r-1}x^{2r-2}}{(r-1)!(1+vx^2)^{r-1}}f^{(r)}(x) + \frac{(2r-2)a^{r-1}x^{2r-3}}{(r-1)!(1+vx^2)^r}f^{(r-1)}(x) \\ &+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} a^{r-1}(-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x) \\ &+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (2r-k-2+2j)a^{r-1}(-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-3+2j}}{k(r-k-2)!(1+vx^2)^{r+k}} \times \\ &f^{(r-k-1)}(x) + \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} (3k-2j)a^{r-1}(-v)^{j+1} \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-1+2j}}{k(r-k-2)!(1+vx^2)^{r+k}} \times \\ &f^{(r-k-1)}(x). \end{aligned}$$

Further simplification leads to

$$\begin{aligned}
& rf(x)^{r-1}f'(x) \\
&= \frac{a^{r-1}x^{2r-2}}{(r-1)!(1+vx^2)^{r-1}}f^{(r)}(x) + \frac{2a^{r-1}x^{2r-3}}{(r-2)!(1+vx^2)^r}f^{(r-1)}(x) \\
&+ \sum_{k=1}^{r-2} \frac{\sum_{j=0}^{k-1} a^{r-1}(-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x) \\
&+ \sum_{k=2}^{r-1} \frac{\sum_{j=0}^{k-2} a^{r-1}(-v)^j (2r-k-1+2j) \binom{k-1}{j} \binom{r-2}{k-j-2} x^{2r-k-2+2j}}{(k-1)(r-k-1)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x) \\
&+ \sum_{k=2}^{r-1} \frac{\sum_{j=1}^{k-1} a^{r-1}(-v)^j (3k-2j-1) \binom{k-1}{j-1} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{(k-1)(r-k-1)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x) \\
&= \frac{a^{r-1}x^{2r-2}f^{(r)}(x)}{(r-1)!(1+vx^2)^{r-1}} \\
&\quad + r \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} a^{r-1}(-v)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k-2+2j}}{k(r-k-1)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x).
\end{aligned}$$

Using the fact $\frac{2}{(r-2)!} + \frac{1}{(r-3)!} = \frac{r}{(r-2)!}$ and the identity (2.1), we have

$$\begin{aligned}
f(x)^{r+1} &= \frac{ax^2}{(1+vx^2)} f(x)^{r-1} f'(x) \\
&= \frac{ax^2}{(1+vx^2)} \frac{a^{r-1}x^{2r-2}f^{(r)}(x)}{r!(1+vx^2)^{r-1}} \\
&\quad + \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} a^{r-1}(-v)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k-2+2j}}{k(r-k-1)!(1+vx^2)^{r+k-1}} f^{(r-k)}(x) \\
&= \frac{a^r x^{2r} f^{(r)}(x)}{r!(1+vx^2)^r} + \sum_{k=1}^{r-1} \frac{\sum_{j=0}^{k-1} a^r (-v)^j \binom{k}{j} \binom{r-1}{k-j-1} x^{2r-k+2j}}{k(r-k-1)!(1+vx^2)^{r+k}} f^{(r-k)}(x).
\end{aligned}$$

This ends the proof. \square

Theorem 2.4 *Let $r \geq 2$. Then for $n \geq 3r - 5$,*

$$\begin{aligned} & \sum_{l=0}^{2r-3} v^l \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} \\ &= a^{r-1} \sum_{k=1}^{r-1} v^{k-1} \frac{n-2k-r+3}{r-1} \binom{n-2k+1}{r-k-1} \binom{n-k-2r+3}{k-1} A_{n-2k-r+3}. \end{aligned}$$

Remark. When $a = v = 1$, Theorem 2.4 is reduced to Theorem 2.1 in [4]. When $a = 1$ and $v = -1$, Theorem 2.4 is reduced to Theorem 3 in [5].

Proof. By virtue of Lemma 2.3, we have

$$\begin{aligned} & (1 + vx^2)^{2r-3} f(x)^r \\ &= (1 + vx^2)^{r-2} \frac{a^{r-1} x^{2r-2} f^{(r-1)}(x)}{(r-1)!} + \sum_{k=1}^{r-2} (1 + vx^2)^{r-k-2} \\ & \quad \times \frac{\sum_{j=0}^{k-1} a^{r-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{k(r-k-2)!} f^{(r-k-1)}(x). \end{aligned} \tag{2.5}$$

Since $A_0 = 0$, the left hand side of (2.5) becomes

$$\begin{aligned} & (1 + vx^2)^{2r-3} \sum_{n=0}^{\infty} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} x^n \\ &= \sum_{l=0}^{2r-3} \sum_{n=2l}^{\infty} v^l \binom{2r-3}{l} \sum_{\substack{j_1+\dots+j_r=n-2l \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} x^n. \end{aligned}$$

Further, the first term of the right hand side of (2.5) simplifies to

$$\begin{aligned} & (1 + vx^2)^{r-2} \frac{a^{r-1} x^{2r-2} f^{(r-1)}(x)}{(r-1)!} \\ &= \sum_{t=0}^{r-2} v^t \binom{r-2}{t} x^{2t} a^{r-1} \frac{x^{2r-2}}{(r-1)!} \sum_{n=r-1}^{\infty} \frac{n!}{(n-r+1)!} A_n x^{n-r+1} \\ &= \frac{a^{r-1}}{(r-1)!} \sum_{t=0}^{r-2} v^t \binom{r-2}{t} \sum_{n=2r+2t-2}^{\infty} \frac{(n-r-2t+1)!}{(n-2r-2t+2)!} A_{n-r-2t+1} x^n. \end{aligned}$$

Furthermore, the second term of the right hand side of (2.5) becomes

$$\begin{aligned}
 & \sum_{k=1}^{r-2} \left(\sum_{t=0}^{r-k-2} v^t \binom{r-k-2}{t} x^{2t} \right) \frac{1}{k(r-k-2)!} \sum_{j=0}^{k-1} a^{r-1} (-v)^j \binom{r-2}{k-j-1} \\
 & \times x^{2r-k-2+2j} \sum_{n=r-k-1}^{\infty} \frac{n!}{(n-r+k+1)!} A_n x^{n-r+k+1} \\
 & = \sum_{t=0}^{r-3} \sum_{j=0}^{r-t-3} \sum_{k=j}^{r-t-3} \frac{(-1)^j a^{r-1} v^{t+j}}{(k+1)(r-k-3)!(n-2r+k-2t-2j+3)!} \\
 & \times \binom{r-k-3}{t} \binom{k+1}{t} \binom{r-2}{k-j} \sum_{n=2r+2t+2j-k-3} (n-r-2t-2j+1)! \\
 & \hspace{15em} \times A_{n-r-2t-2j+1} x^n \\
 & = \sum_{t=0}^{r-3} \sum_{\delta=t+1}^{r-2} \sum_{k=\delta-t-1}^{r-t-3} \frac{(-1)^{\delta-t-1} a^{r-1} v^{\delta-1}}{(k+1)(r-k-3)!(n-2r+k-2\delta+5)!} \binom{r-k-3}{t} \\
 & \times \binom{k+1}{\delta-t-1} \binom{r-2}{k-\delta+t+1} \sum_{n=2r+2\delta-k-5} (n-r-2\delta+3)! A_{n-r-2\delta+3} x^n.
 \end{aligned}$$

Now the right-hand side of (2.5) becomes

$$\begin{aligned}
 & \frac{a^{r-1} v^{k-1}}{(r-1)!} \binom{r-2}{k-1} \frac{(n-r-2k+3)!}{(n-2r-2k+4)!} \\
 & + \sum_{t=0}^{k-1} \sum_{l=k-t-1}^{r-t-3} \frac{(-1)^{k-t-1} a^{r-1} v^{k-1}}{(l+1)(r-l-3)!(n-2r+l-2k+5)!} \\
 & \times \binom{r-l-3}{t} \binom{l+1}{l-t-1} \binom{r-2}{l-k+t+1} (n-r-2k+3)! \\
 & = \frac{a^{r-1} v^{k-1} (n-r-2k+3)}{(r-1)} \binom{n-2k+1}{r-k-1} \binom{n-k-2r+3}{k-1},
 \end{aligned}$$

which completes the proof. \square

Theorem 2.5 For $n \geq 2$, $\sum_{j=0}^n A_j A_{n-j} = a \sum_{m=1}^{n-1} v^{\frac{(n-m-1)}{2}} \cos \frac{(n-m-1)\pi}{2} m A_m$.

Remark. When $a = v = 1$, Theorem 2.5 is reduced to Theorem 4.1 in [4]. When $a = 1$ and $v = -1$, Theorem 2.5 is reduced to Theorem 4 in [5].

Proof. From (2.1), we have

$$\begin{aligned}
\sum_{n=0}^{\infty} \sum_{j=0}^n A_j A_{n-j} x^n &= \left(\sum_{n=0}^{\infty} A_n x^n \right) \left(\sum_{m=0}^{\infty} A_m x^m \right) \\
&= ax^2 \left(\sum_{j=0}^{\infty} (-v)^j x^{2j} \right) \left(\sum_{m=1}^{\infty} mA_m x^{m-1} \right) \\
&= ax^2 \left(\sum_{j=0}^{\infty} \gamma_j v^{j/2} x^j \right) \left(\sum_{m=0}^{\infty} (m+1) A_{m+1} x^m \right) \\
&= a \sum_{n=0}^{\infty} \sum_{m=0}^{n-1} mA_m \gamma_{n-m-1} v^{(n-m-1)/2} x^n,
\end{aligned}$$

where $\gamma_j = \cos \frac{j\pi}{2}$ for $j \geq 0$. Comparing the coefficients of like power of x from both the sides of above equation, we obtain the desired result. \square

Let C_n be the n -th Catalan number [7], defined by

$$C_n = \frac{1}{n+1} \binom{2n}{n}.$$

Theorem 2.6 For $n \geq r \geq 2$, we have

$$\begin{aligned}
&\sum_{\substack{j_1 + \dots + j_r = n \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} \\
&= \frac{a^{r-1} C_{r-2}}{(2r-4)! 2^{2r-4}} \sum_{m=1}^{n-r+1} v^{\frac{n-m-r+1}{2}} \frac{(n+m+r-3)!! (n-m+r-3)!!}{(n+m-r+1)!! (n-m-r+1)!!} \\
&\quad \times mA_m \cos \frac{(n-m-r+1)\pi}{2}.
\end{aligned}$$

Remark. When $a = v = 1$, Theorem 2.6 is reduced to Theorem 4.2 in [4]. When $a = 1$ and $v = -1$, Theorem 2.6 is reduced to Theorem 5 in [5].

Proof. Using binomial expansion, we have

$$\begin{aligned}
\frac{1}{(1+vx^2)^{r-1}} &= \sum_{i=0}^{\infty} (-v)^i \binom{i+r-2}{r-2} x^{2i} \\
&= \sum_{k=0}^{\infty} \frac{v^{k/2}}{(r-2)! 2^{r-2}} \frac{(k+2r-4)!!}{k!!} \cos \frac{k\pi}{2} x^k. \quad (2.6)
\end{aligned}$$

Since

$$f^{(r-1)}(x) = \sum_{m=0}^{\infty} \frac{(m+r-1)!}{m!} A_{m+r-1} x^m, \quad (2.7)$$

the first term on the right-hand side of (2.3) becomes

$$\begin{aligned} & \frac{a^{r-1} x^{2r-2} f^{(r-1)}(x)}{(r-1)! (1+vx^2)^{r-1}} \\ &= \frac{a^{r-1} x^{2r-2}}{(r-1)!} \sum_{n=0}^{\infty} \sum_{m=0}^n \frac{v^{(n-m)/2}}{(r-2)! 2^{r-2}} \frac{(n-m+2r-4)!!}{(n-m)!!} \\ & \quad \times \cos \frac{(n-m)\pi}{2} \frac{(m+r-1)!}{m!} A_{m+r-1} x^n \\ &= \frac{a^{r-1}}{(r-1)! (r-2)! 2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=0}^{n-2r+2} v^{\frac{(n-2r+2-m)}{2}} \\ & \quad \times \frac{(n-m-2)!!}{(n-m-2r-2)!!} \cos \frac{(n-m-2r+2)\pi}{2} \frac{(m+r-1)!}{m!} A_{m+r-1} x^n \\ &= \frac{a^{r-1}}{(r-1)! (r-2)! 2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=r-1}^{n-r+1} v^{\frac{(n-m-r+1)}{2}} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \\ & \quad \times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+1)!} A_m x^n. \end{aligned}$$

In a similar use of the expressions (2.6) and (2.7) gives

$$\begin{aligned} & \frac{\sum_{j=0}^{k-1} a^{r-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k-2+2j}}{(1+vx^2)^{r+k-1}} f^{(r-k-1)}(x) \\ &= \sum_{j=0}^{k-1} a^{r-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} x^{2r-k+2j-2} \sum_{n=0}^{\infty} \sum_{m=0}^n \frac{v^{(n-m)/2}}{(r+k-2)! 2^{r+k-2}} \\ & \quad \times \frac{(n-m+2r+2k-4)!!}{(n-m)!!} \cos \frac{(n-m)\pi}{2} \frac{(m+r-k-1)!}{m!} A_{m+r-k-1} x^n \\ &= \frac{a^{r-1}}{(r+k-2)! 2^{r+k-2}} \sum_{j=0}^{k-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} \sum_{n=2r-k-2+2j}^{\infty} \sum_{m=0}^{n-2r+k+2-2j} \\ & \quad \times v^{\frac{n-m-2r+k+2-2j}{2}} \frac{(n-m+3k-2-2j)!!}{(n-m-2r+k+2-2j)!!} \\ & \quad \times \cos \frac{(n-m+k-2r+2-2j)\pi}{2} \frac{(m+r-k-1)!}{m!} A_{m+r-k-1} x^n. \end{aligned}$$

$$\begin{aligned}
 &= \frac{a^{r-1}}{(r+k-2)!2^{r+k-2}} \sum_{j=0}^{k-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} \\
 &\quad \times \sum_{n=2r-k-2}^{\infty} \sum_{m=0}^{n-2r+k+2} v^{\frac{n-m+k-2r+2-2j}{2}} \frac{(n-m+3k-2-2j)!!}{(n-m-2r+k+2-2j)!!} \\
 &\quad \times \cos \frac{(n-m+k-2r+2-2j)\pi}{2} \frac{(m+r-k-1)!}{m!} A_{m+r-k-1} x^n \\
 &= \frac{a^{r-1}}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} \sum_{j=0}^{k-1} (-v)^j \binom{k}{j} \binom{r-2}{k-j-1} \\
 &\quad \times v^{\frac{n-m+k-2r+2-2j}{2}} \frac{(n-m+r+2k-3-2j)!!}{(n-m-r+k+3-2j)!!} \\
 &\quad \times \cos \frac{(n-m+k-2r+2-2j)\pi}{2} \frac{m!}{(m-r+k+1)!} A_m x^n.
 \end{aligned}$$

Since

$$\frac{(n-m+r+2k-3-2j)!!}{(n-m-r+k+3-2j)!!} = 0,$$

for $m = n - 2r + k + 2 - 2j$ ($j = 1, 2, \dots, k - 2$), this is equal to

$$\begin{aligned}
 &\frac{a^{r-1}}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} v^{\frac{n-m-r+1}{2}} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
 &\quad \times \binom{r+k-2}{k-1} \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \cos \frac{(n-m-r+1)\pi}{2} \\
 &\quad \times \frac{m!}{(m-r+k+1)!} A_m x^n.
 \end{aligned}$$

Therefore, the equation (2.3) becomes

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} x^n \\
 &= \frac{a^{r-1}}{(r-1)!(r-2)!2^{r-2}} \sum_{n=2r-2}^{\infty} \sum_{m=r-1}^{n-r+1} v^{\frac{n-m-r+1}{2}} \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \\
 &\quad \times \cos \frac{(n-m-r+1)\pi}{2} \frac{m!}{(m-r+1)!} A_m x^n + \sum_{k=1}^{r-2} \frac{1}{k(r-k-2)!}
 \end{aligned}$$

$$\begin{aligned}
& \times \frac{a^{r-1}}{(r+k-2)!2^{r+k-2}} \sum_{n=2r-k-2}^{\infty} \sum_{m=r-k-1}^{n-r+1} v^{\frac{n-m-r+1}{2}} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \\
& \times \binom{r+k-2}{k-1} \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \cos \frac{(n-m-r+1)\pi}{2} \\
& \times \frac{m!}{(m-r+k+1)!} A_m x^n \\
= & \sum_{n=r-1}^{\infty} \sum_{m=1}^{r-2} \left(\frac{a^{r-1}}{(r-1)!2^{r-2}} \sum_{k=r-m-1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \right. \\
& \times \left. \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \frac{m!}{(m-r+k+1)!} \right) v^{\frac{n-m-r+1}{2}} \\
& \times \cos \frac{(n-m-r+1)\pi}{2} A_m x^n + \sum_{n=r-1}^{\infty} \sum_{m=r-1}^{n-r+1} \left(\frac{a^{r-1}}{(r-1)!(r-2)!2^{r-2}} \right. \\
& \times \frac{(n-m+r-3)!!}{(n-m-r+1)!!} \frac{m!}{(m-r+1)!} + \frac{a^{r-1}}{(r-1)!2^{r-2}} \\
& \times \sum_{k=r-m-1}^{r-2} \frac{1}{k!(r-k-2)!2^k} \frac{(n-m+r-1)!!}{(n-m-r+1)!!} \frac{(n-m+r-3)!!}{(n-m+r-2k-1)!!} \\
& \times \left. \frac{m!}{(m-r+k+1)!} \right) v^{\frac{n-m-r+1}{2}} \cos \frac{(n-m-r+1)\pi}{2} A_m x^n.
\end{aligned}$$

For $1 \leq m \leq r-2$ and $r-1 \leq m \leq n-r+1$, the above expression reduces to

$$\begin{aligned}
& \sum_{n=0}^{\infty} \sum_{\substack{j_1+\dots+j_r=n \\ j_1, \dots, j_r \geq 1}} A_{j_1} \dots A_{j_r} x^n \\
= & \left[\sum_{n=0}^{\infty} \sum_{m=1}^{r-2} \left(\frac{a^{r-1}m}{(r-1)!(r-2)!2^{2r-4}} \frac{(n+m+r-3)!!(n-m+r-3)!!}{(n+m-r+1)!!(n-m-r+1)!!} \right) \right. \\
& + \sum_{n=0}^{\infty} \sum_{m=r-1}^{n-r+1} \left(\frac{a^{r-1}}{(r-1)!(r-2)!2^{2r-4}} \frac{(n+m+r-3)!!}{(n+m-r+1)!!} \right. \\
& \times \left. \left. \frac{(n-m+r-3)!!}{(n-m-r+1)!!} m \right) \right] v^{\frac{n-m-r+1}{2}} \cos \frac{(n-m-r+1)\pi}{2} A_m x^n,
\end{aligned}$$

which ends the proof. \square

References

1. BUNDSCHUH, P.; SHIUE, J. S. – *Solution of a problem on the uniform distribution of integers*, Atti Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur.(8), **55** (1973), 172–177 (1974).
2. HORADAM, A. F. – *Generating functions for powers of a certain generalised sequence of numbers*, Duke Math. J., **32** (1965), 437–446.
3. KOMATSU, T. – *Convolution identities for Cauchy numbers*, Acta Math. Hungar., **144** (2014), no. 1, 76–91.
4. KOMATSU, T.; MASÁKOVÁ, Z.; PELANTOVÁ, E. – *Higher-order identities for Fibonacci numbers*, Fibonacci Quart., **52** (2014), no. 5, 150–163.
5. KOMATSU, T.; RAY, P. K. – *Higher-order identities for balancing numbers*, <https://arxiv.org/abs/1608.05925>, (2016).
6. KOSHY, T. – *Fibonacci and Lucas numbers with applications*, Pure and Applied Mathematics (New York), Wiley-Interscience, New York (2001), xviii+652 pp.
7. KOSHY, T. – *Catalan numbers with applications*, Oxford University Press, Oxford (2009), xvi+422 pp.
8. MANSOUR, T. – *A formula for the generating functions of powers of Horadam's sequence*, Australas. J. Combin., **30** (2004), 207–212.
9. SHANNON, A. G.; HORADAM, A. F. – *Special recurrence relations associated with the sequence $\{w_n(a, b; p, q)\}$* , Fibonacci Quart., **17** (1979), no. 4, 294–299.

Received: 20.06.2017 / Accepted: 13.09.2017

AUTHORS

BIJAN KUMAR PATEL
IIIT Bhubaneswar, India-751003,
E-mail: iiit.bijan@gmail.com

TAKAO KOMATSU
School of Mathematics and Statistics,
Wuhan University, China-430072,
E-mail: komatsu@whu.edu.cn

PRASANTA KUMAR RAY (Corresponding author)
Sambalpur University, India-768019,
E-mail: prasantamath@suniv.ac.in